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import numpy as np

= np. array([
2, 1, 0, 3],
-1, 0,2, 4],
4, <2, 7, 0]
D
B = np. array(|

print(A + B)
print(A - B)
print(2%A)
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1mport numpy as np

A=r[111).a12rraﬁ[ (1).AB = A.dot(B)=
[2, 6, 0] [[12 27 30 13]
b i [ 8 -4 26 12]]

—np: fai 31 (2)AB = dot(A,B)=

[0, -1, 3, 11, [[12 27 30 13]
- [ 8 -4 26 12]]
Print(A. dOt(B)) {3]"&5 = A @ b=

print(NpP. dO‘t(A, B)) [ [:l-E 27 30 13]
rint(A @ B) [ 8 -4 26 12] ]
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1mport numpy as np

A=r[111).a12rraﬁ[ (1).AB = A.dot(B)=
[2, 6, 0] [[12 27 30 13]
b i [ 8 -4 26 12]]

—np: fai 31 (2)AB = dot(A,B)=

[0, -1, 3, 11, [[12 27 30 13]
- [ 8 -4 26 12]]
Print(A. dOt(B)) {3]"&5 = A @ b=

print(NpP. dO‘t(A, B)) [ [:l-E 27 30 13]
rint(A @ B) [ 8 -4 26 12] ]




Mk A2 sErAag sl
/ » g g N =sp ARk

anx, + apxy +---+ apx, = by anxy + apxy +---+ apx, b

E
pu
o,
o
0Q
®
o
RO
-/

ar» X1 + anxy +---+ ar,x, = by ‘ a1 Xy + a»x,» +---—+ diyXy b,
Am1X1 + Am2X2 + -+ AunX, = by, | A1 X1 + AQmaX2 + -+ QunXn_ _bm_
al dip -+ dAip X1 b
ajzi dyyy -+ Ay X2 b,
. . . =1 —) Ax=Db




\ \

560 chgd B AL

™ fe % lfljfb{ATmév 1=

™ A% 27 e EAT 0% 217
ﬂll dj2 _di3 alq_
a) ax» axn axyl|, B=
| d31 43 a3z Az

ay;  ay 031_ ~
ayy axp| as BT 2\
a3y d| dasz 3
| d1 do4l 34y

2 3

4
6

1
S

1 5

3 5_1,

» 4% mxnsE'L > P Acigk B (transpose)is (47 (page. 33)
(A");i = (A)

= [4]

"= 4



1mport numpy as np
B = np. array(|
2, 3],

print(B. D
rint(C. D

mEA
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#E*tracer=4t & Mg 4p 35 £ =np. trace(A)
1import numpy as np

A = np. array(|

=12, 7, 0],
3,9,-8,4],
1,2,7,-3],
4,-2,1,0]

D

print(C A¢hp*tracer=", np. trace(A))

AR Eftracer= 11




